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- X SHITE 2 3 4 5
a8 72, 436 72, 453 72, 454 72, 452 72, 468
i 11, 985 11,948 11,935 11,915 11, 857
1 4, 454 4,433 4,410 4,379 4,381
=it 13, 465 13,532 13,598 13, 669 13,743
3 1,945 1,945 1,945 1,945 1,945
Lk 35, 861 35, 844 35, 831 35, 833 35, 841
It 1,049 1,043 1,039 1,033 1,034
50 3,677 3,708 3,696 3,678 3, 667
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TRK 26 & 14.3 36.6 4.0 80.3 1.4] 1,303.0
27 14.9 36.4 -3.2 83.4 1.3] 1,437.0
28 15. 4 35.4 -4.8 83.1 1.3 1,383.0
29 14.4 34,7 -4.0 1.4] 1,591.0
30 15.1 37.2 5.7 75.0 1.3] 1,634.0
SHITTE 15.1 36.5 -2.8 74.1 1.3] 1,483.5
2 15.3 37.1 -3.5 75. 6 1.3] 1,500.0
3 15.2 35.7 3.6 77.3 1.4] 1,496.0
4 15.0 36.6 -3.4 77.8 1.3] 1,098.5
5 15. 6 37.0 -4.6 78.1 1.3] 1,280.5
SH5E 18 3.7 14.5 4.6 76.1 1.6 35.0
2 A 4.5 17.0 -4.0 75.2 1.3 42.0
3A 10.2 23.2 -0.2 71.5 1.1 47.5
4B 13.7 27.1 3.3 73.3 1.3 100. 0
5 H 18.0 32.2 7.0 75.2 1.3 154. 0
6 B 21.9 33.2 1.9 83.6 1.1 254.5
7H 27.5 37.0 19.6 78.8 1.0 64. 5
8 A 27.5 36. 1 21.8 84.2 1.4 317.5
9 A 25.4 34.3 17.0 83.8 0.9 89.0
108 16.2 26.3 7.6 79.2 1.2 87.0
118 1.4 25.1 0.3 80. 8 1.3 63.0
128 6.7 22.5 2.2 75. 4 1.5 26.5
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